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[ Class.isInstance(object)d O O 0O O O O O class Cat{} class
Dog{} class Duck{} public class Test{ public static void
main(String[] args){ Class c2, c3. Duck d = new Duck(). c2 =
Dog.class. ¢3 = d.getClass(). System.out.printin("c2.isintance(d)
(c2.isInstance(d))). System.out.printin("c3.isIntance(d) ] "
(c3.isInstance(d))). } } OO 0O OO O O O c2.isIntance(d)
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public class Test{ public static void main(String[] args){ Class c3.
//Object d = new Duck(). 1 100 Duck d = new Duck(). /U 200 c3
= d.getClass(). System.out.printin("d instanceof Dogld " (d
Instanceof Dog)).//UJ 300 }} 0 O Duck Dogll O OO 0O O OO O
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DO00000000000024. 000 0 class Base{} class
Derived{} public class Test{ public static void test(Object x){
System.out.printin("Testing x of type " x.getClass()).
System.out.printin("x instanceof Base " (x instanceof Base)).



System.out.printIn("x instanceof Derived " (x instanceof Derived)).
System.out.printin("Base.isInstance(x) " Base.class.isInstance(x)).
System.out.printin("Derived.isInstance(x) "
Derived.class.isInstance(x)). System.out.printin("x.getClass() ==
Base.class " (x.getClass() == Base.class)).
System.out.printin("x.getClass() == Derived.class " (x.getClass() ==
Derived.class)). System.out.printin("x.getClass().equals(Base.class) "
(x.getClass().equals(Base.class))).
System.out.printin("x.getClass().equals(Derived.class) "
(x.getClass().equals(Derived.class))). } public static void
main(String[] args){ test(new Base()). test(new Derived()). } } U O
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